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6|1]4|BEh|[~> 006 & 0.06 & 0.08~ 0.05 E |0.07] E [0.06]-~+ 0.04|%4]0.07]|~ 0.06
6|1 ]|11|BEhn[> 004 £ 10.05 £ |0.06{~~0.04] £ |0.04] £ [0.05[-~>+ 0.03| %4 0.05]|~>+| 0.03
6| 1]19/Bhn|[> 0.06] & 0.07] & 0.07[~~ 0.04] E |0.07| £ [0.07[~~>+0.05|%40.07 |-~ 0.07
6|1]26/Bn| E 006/ £ 0.07] £ 0.07[~>|0.05] F |0.06] F 0.05|-~>+ 0.04| %4 0.08]|~>+ 0.07
6| 1]29|/Bn|[-> 005 & 0.05 % 0.07[~~ 0.05 B |0.07| E [0.05[-~>+ 0.04|%40.06]|=> 0.06
62| 7|BEh|[~> 005 F 005 F 0.07[-~0.04] F |0.06] F [0.06]-~+ 0.04|%410.07]|~ 0.06
6|2]|15/Bn|[> 006/ * 0.06] & 0.07[~~ 0.05 B |0.07| £ [0.07[-~>+]0.05|%40.07 |~ 0.05
6| 2 [19|<$£Y[7>~[0.05] B |0.06] E |0.07|~|0.05| E |0.07| £ |0.06]|++ 0.04|%1]0.07|*>>*| 0.05
63| 1]|<EY[7*»0.05 £ [0.05] E [0.05/>0.06] B |0.05| £ |0.06]|++ 0.04|%1]0.07|7*>+| 0.06
63| 7B~ 005 L 004 E 0.06/-~ 0.05 B |0.07] £ [0.06]-=>+ 0.04|%40.07]|~ 0.06
6 | 3 [14|<£Y[7>~[0.06] EX |0.06] E |0.07|~~|0.04] E 0.07| £ |0.08]|++ 0.04|%1|0.07|*>>+| 0.06
6|3 |19/BN|[> 005 & 0.06] & 0.07[~~ 0.04] E |0.07] £ [0.07[~~>+|0.04| %4 0.07 |~ 0.06
6 | 3 [25|<£Y[7*»~0.06] EX |0.06] E |0.07|~|0.04] E |0.07| £ |0.06]|++ 0.04|%1|0.07|7*>>+| 0.06
6|4]|5|BEh|[~ 006 & 0.06 & 0.06/~ 0.04] £ |0.06] £ [0.05[-~>+ 0.04|%40.07]|= 0.05
6|4]|8|BENh|[~ 005 E 006 & 0.07[~~ 0.04] E |0.06] EL [0.05[-~>+ 0.04|%40.07]|~ 0.06
6| 4[15|FEh|~ 005 £ 0.07] E [0.08/~~0.05 * |0.07| £ 0.06|++ 0.04|%1]0.07|7*>+| 0.06
6| 4[25|FEh|[~0.05 E [0.05] E [0.07[~»0.04] E [0.06] £ |0.05|-+ 0.04|%1]0.07|7*>>| 0.05

*1 IRSTEY 5 Rt A R S 245 ICH DEHF E B FEH(8,000Ba/ ke A F DI KERIDREDEENEHON, REFHFRRIHEVTHEHROEBZ7HIT—EULRIEL. BET L0,
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ERBIEE = (BRBIEIRE 1 Sv/BF x04) x 16B5R) + (BIMEIEIRE 1 SV/BF x 8B5fH)) x 3658 [uSvw/E] XI[BEBR]TmSv. & = 0194Sv/h
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